SIMUXRESAKTE 110 BFEF—2H

ShE BARREEEFE BHETEHFEE
EI4R 201 203 205 207 209 Z'ﬂ%iﬁ A X

CHEBR

1) HEBERENERENEZLERS -
2) BRRBELEE ENERMREEERAEENEE
(3) EHEBEERIIMFINR LR -

FEMAB

1 AR . BENERAEE -

2.8 MRERE R - IR - ROoBRMER - DA - £EIR - AB

H;]g o

CERAB

REMRE  BERS  ORES

- TR AR

AR EAE T S HWRS

- BERESE

SHHE 50% ORBE 20% FRAE 30% -

BEAHEEE

BEEENBRBHEAETEE  BISBREERM - 5807
ampc ) - MG ERHAERBURERENIRABCERNERE -

DR

- BERRRBEIEIR

RRAITRE - MIRIGSTALIESE -

AN

BHEA R

(02) 25334017#217 #367




(B EER]

A |LREHE  2BEEE  3EAHE LKERR SIEERE BANEHE  TAEHHE
. PEEHEE  9ORERE ZREHE  1LMAFESHE RAERERE 13HBZRENS
RS 14, HIBRSTEHE 15. RERHEHEMHREE Hih(ERB) BEYE..5
B B Bz E
Hl—|Z|=|\m|&|x| 78 e S i = == =
ES ~ER OB R e = b3
24 |53l
£(22(23(24|25(26|27(28 e
o 30 I T &
N 172 - [ExX L3R 16:00 1 &2
1[EEFIsR (B~ 5— )
Bl—129/30(31| 1| 2|3 |4 | izize 1-3[E= KEDORPER
R TBEERERAE
B FiR
-3 e mEe aEeyl
o blehENEE
CESRD 6l=_ - = - 110 BEFRIMA
= __ 5%
BB RE L & A TR R oA
S i o el B L b [ aRaIA (B> )
pé+ o Tiegrpf Y HE T B S TRERRERAS
Zls5|6|7]8]9|10(11|(®*) - Bl 3R
(43 ] BB —RiImBERERNE
B oy - B iR
PERIRHES RS T 8-20 & — MR 1
EARR ~ AP R o 11 9/20 HBF 28
10-11[5 =% —RisH=E
TA[EMmE TS
1{?’1‘%&:‘9‘ ]+ L pR o gk 72 © 15 [ % @ 7538
I AERES AR BE 17 [B5RBH S BAS BB SS B4
=|12|13|14(15|16|17 |18 inim 4% 4 & a4k 7 E—B+sanRas
[E84+) 17 ERBENHmEHR RS L
° 17 B AMR YIRS HE
C Rk b i 17 1%
7 EPR DY S o P
= CTIEETD! 0 ?{T@WE
Y v D1 | P R & IR
B Sig i g d on ooy :
L & R i d iR D4 B R R E R 9]
P> TR PR e =y
P9(19(20(21|22|23|24 (25| 33k D LT e 2521 H
2. f%rﬁﬂ?al-%’ B ET RN
3. % %;H\‘iz o
o 27-28 [E— iR
28JEthiR iR VEE 3
DV ERERE
o= 29-10/6 [S— R E AR RIZ
B
F(26(27(28(29(30] 1 | 2 !"Lﬁiﬁ ) 30-10/7 |5 — A EwRERRE
BEEPAE B TENE N BE
1 s =Bt BEEREE-
SREBERE  STRELE
#Ll (17 :00)
o) EPEne
4-13j5——mEs
+lxlzlalslel7]sle [279 %] B e _—maEBEREE-
7N Uz, E’: L ﬁ:"il R B RN & L
V3 % =
B [0 PB4 @iuEE LSBT
EEERISELE (12:00)



http://www.edu.tw/files/site_content/B0055/5人權教育議題1000111.pdf
http://www.edu.tw/files/site_content/B0055/6生涯發展教育議題991229.pdf
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